
›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ
!m“þ#ëû ö×!’

¢‚öìëy† ßþiyþ™öì̃  ¢Çþ›“þy
1V ˜#öì‰þîû þ™yàþ!Ýþ þ™öìvþü ²ÌÙÀ†%!œîû vþz_îû öœöì…y õ 1 × 4 = 4

xÙ»a †yöìŠé öþ™¤‰þyîû vþy„þÐ vþzöìFŠéîû ö…“þ öíöì„þ !Gþ!ÍÔ ç£z !G¥þ !G¥þ „þîûöìŠéÐ ”îû‹yîû þ™yÍÔyÝþy îy“þyöì¢ •vþüy¢ •vþüy¢ „þöìîû þ™vþüöìŠé– îr• „þöìîû
”yçÐ çÝþy !„þ „þy§¬yîû Ÿ·Ú ˜y– îûy§¬y‡îû öíöì„þ !îvþüyœ vþy„þöìŠéÐ

„þV vþzöìFŠéîû ö…“þ öíöì„þ !„þöì¢îû Ÿ· xy¢öìŠéÚ

…V ”îû‹yîû þ™yÍÔyÝþy ö„þ˜ •vþüy¢ •vþüy¢ „þöìîû þ™vþüöìŠéÚ

†V !îvþüyœÝþy ö„þyíy öíöì„þ vþy„þöìŠéÚ

‡V ~…yöì̃  „þ# „þ# þ™Ÿ%– þ™y!… ç þ™“þöìA†îû vþzöìÍÔ… „þîûy £öìëûöìŠéÚ

2V Fill in the blanks with correct words : 1 × 3 = 3

(i) ___________ (There / Their) are many clouds in the sky.

(ii) The _____________ (sun / son) rises in the east.

(iii) The floor is still _______________ (wait / wet).

3V ˜#öì‰þîû „þÄyöìœuþyîû!Ýþ ö”öì… vþz_îû öœöì…yÐ œyœ !‰þ£«†%!œ Š%é!Ýþîû !”˜ õ 1 × 3 = 3

îû!îîyîû ö¢y›îyîû ›A†œîyîû î%•îyîû î,£ßþ™!“þîyîû Ÿ%„Êþîyîû Ÿ!˜îyîû

1 2 3 4 5

6 7 8 9 10 11 12

13 14 15 16 17 18 19

20 21 22 23 24 25 26

27 28 29 30

S„þV ~£z ›yöì¢îû 23 “þy!îû… „þ# îyîûÚ

S…V ~£z ›yöì¢ „þÝþy Š%é!Ýþîû !”˜Ú

S†V ~Ýþy „þ# ›y¢ £öì“þ þ™yöìîûÚ

ŠéyeŠéye#îûy îy!vþüöì“þ !˜öì‹îû !î¡ìëû!¦þ!_„þ …y“þyëû ~†%öìœy „þöìîû !î”Äyœëû …%œöìœ !ŸÇþöì„þîû „þyöìŠé ‹›y ö”öìîÐ
ö„þy˜ xîÞíyöì“þ£z “þyîûy îy!vþüîû îy£zöìîû öîöìîûyöìî ̃ yÐ



ŠéyeŠéye#îûy îy!vþüöì“þ !˜öì‹îû !î¡ìëû!¦þ!_„þ …y“þyëû ~†%öìœy „þöìîû !î”Äyœëû …%œöìœ !ŸÇþöì„þîû „þyöìŠé ‹›y ö”öìîÐ
ö„þy˜ xîÞíyöì“þ£z “þyîûy îy!vþüîû îy£zöìîû öîöìîûyöìî ̃ yÐ

›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ
!m“þ#ëû ö×!’

¢›§ºëû ßþiyþ™öì̃  ¢Çþ›“þy
1V ë%=þîÄO˜ îÄî£yîû „þöìîû ~„þ£z xíÅ !î!ŸTþÄ Ÿ· öœöì…y õ 1 × 2 = 2

„þV îûy“þ 

…V !îŠéy˜y 

2V ë%=þîÄyO˜ îÄî£yîû „þöìîû Ÿ· ÷“þ!îû „þöìîûy õ 1 × 2 = 2

3V Match the animals with their body parts : 1 × 3 = 3

Animals Body parts

(i) camel stripes

(ii) lion hump

(iii) zebra mane

4V šþy¤„þy ‡öìîû ‘>’ îy ‘<’ !‰þ£« î¢yç õ 1 × 3 = 3

„þV 12 + 7 20 – 7

…V 3 × 9 20 + 9

†V 18 ÷ 3 2 × 2

Nþ



›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ
!m“þ#ëû ö×!’

¢›¢Äy ¢›y•yöì̃  ¢Çþ›“þy
1V ˜#öì‰þîû Ÿ·†%!œîû ~„þ£z xöìíÅîû ë%=þîÄO˜ îÄî£yîû „þîûy Ÿ· öœöì…y ç ö¢†%!œ !”öìëû îy„þÄ îû‰þ˜y „þöìîûy õ 2 × 2 = 4

„þV öàþœyöìàþ!œ

…V xöì̃ „þ

2V Read the following sentences carefully :

Mina and Bina are friends. They always walk to school together. Mina’s father is a doctor. He treats sick

people in the village. Bina’s father is a farmer. He works in the field. They all love their village.

Answer the following questions : 1 × 3 = 3

(i) How do the two friends go to school?

(ii) Who is the doctor?

(iii) What does a farmer do?

3V ¢›y•y˜ „þöìîûy õ 1 × 3 = 3

S„þV Ÿ!=þ ›yöìàþ îöì¢ 17éôéÝþy öîœ%̃  öšþyœyœÐ “þyîûþ™îû ö¢ 3öìÝþ „þöìîû öîœ%̃  !˜öìëû ~„þ ~„þÝþy öîœ%öì̃ îû †%FŠé ÷“þ!îû „þîûœÐ

!£öì¢î „þöìîû îöìœy Ÿ!=þ „þóÝþy öîœ%öì̃ îû †%FŠé ÷“þ!îû „þîûöì“þ þ™yîûœ xyîû „þóÝþy þ™öìvþü íy„þœÚ

S…V xy‹ „Ïþyöì¢ ö›yÝþ 24‹˜ ŠéyeŠéye# vþzþ™!Þí“þÐ ›yöìàþ !˜öìëû !ŸÇþ„þ xy›yöì”îûöì„þ 4öìÝþ ”öìœ ¦þy† „þöìîû ”y¤vþüyöì“þ îœöìœ˜Ð

²Ì!“þ!Ýþ ”öìœ „þ“þ‹˜ „þöìîû ŠéyeŠéye# £œÚ

S†V xy›yîû 6!Ýþ îr•%Ð ²Ì!“þ!Ýþ îr•%öì„þ ë!” 4öìÝþ „þöìîû !›!Tþ …yçëûy£z– “þy£öìœ ö›yÝþ „þÝþy !›!Tþ !„þ˜öì“þ £öìîÚ

ŠéyeŠéye#îûy îy!vþüöì“þ !˜öì‹îû !î¡ìëû!¦þ!_„þ …y“þyëû ~†%öìœy „þöìîû !î”Äyœëû …%œöìœ !ŸÇþöì„þîû „þyöìŠé ‹›y ö”öìîÐ
ö„þy˜ xîÞíyöì“þ£z “þyîûy îy!vþüîû îy£zöìîû öîöìîûyöìî ̃ yÐ



›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ
!m“þ#ëû ö×!’

›y˜!¢„þ ç Ÿyîû#!îû„þ ¢›§ºëû ¢Çþ›“þy
1V þ™Ÿ%!Ýþ ö„þÚ þ™Ÿ%!Ýþîû ~„þÝþy Šé!î xy¤öì„þy ~î‚ “þyîû ¢Áºäöìr• 3öìÝþ îy„þÄ öœöì…y õ 4

2V Read the sentences and fill in the table : 3

(i) I am an Indian.

(ii) You went to the zoo.

(iii) She bought a new pen.

Today Yesterday

3V ö„þy˜ ¢›ëû “%þ!› „þ# „þöìîûy “þy !î!¦þ§¬ ‡!vþüîû Šé!î ~¤öì„þ ö”…yç Ð 3

ŠéyeŠéye#îûy îy!vþüöì“þ !˜öì‹îû !î¡ìëû!¦þ!_„þ …y“þyëû ~†%öìœy „þöìîû !î”Äyœëû …%œöìœ !ŸÇþöì„þîû „þyöìŠé ‹›y ö”öìîÐ
ö„þyöì̃ y xîÞíyöì“þ£z “þyîûy îy!vþüîû îy£zöìîû öîöìîûyöìî ̃ yÐ

›y‚¢yŸ#–

hßþ˜Äþ™yëû#–

‰þ“%þÜ™”–

övþyîûy ”y†


